#3403 B 188 (KER)

R RENFEHIS (A15) 2B B #H

Frx EISEHABE: 2431 b
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 28,037
F= 13,870 2,300 11,570 10 1,188 1. 080 1,350 648
EE 3,000 350 2,650 10 972 648 1,080 540
KI5 2,880 780 2,100 12 972 648 972 540
130340 [;£ICALA ¥ 16,980
BE 6,000 120 5,880 10 Z. 808 Z.700 2,808 1,296
REAR 2,900 0 2,900 10 2,322 1,620
BRE 7,180 0 7,180 10 2,570 778
130400 15 % 1,146
= 300 0 300 10 1,890
Ik 150 10 140 10 5,124 5,940 5,400
130500 [1=1F D a3 1,030
BiR 264 122 142 2 2.916 1,512 2,700 1,674
®me 144 52 92 4 3,780 2,160 4,536 1,080
IR 184 0 184 4 4,320 3,024
BE 24 0 24 2 1,944 1,296
130600 |[LA A % 1,725
®me 1,725 0 1,725 5 - - - 4,752 864
131100 [ 3¢ % 20,757
EE 9,282 6,600 2,682 15 1,080 432 1,696 432
& 900 0 900 15 1,080 756
e 9,105 2,430 6,675 15 972 972 864
BR 1,470 0 1,470 15 864
131700 [Fr Y 3 48,612
25 23,295 3,130 20,165 10 810 356 810 216
EE 20,317 12,900 7,417 10 702 648 864 648
A 4,000 300 3,700 10 810 756 540
BRE 1,000 50 950 10 648 648 616
131800 |[[(F5hAE % 2,599
EE 740 540 200 0.2 108 54 57 43
= 862 2 860 0.08 16
=i 675 315 360| 0.18 65 86 76
131910 [FH=F % 4,515
N 27 0 27 0.5 702 302
£E 141 5 136 05 270 302 270




#3403 B 188 (KER)

R RENFEHIS (A15) 2B B #H

Frx EISEHABE: 2431 b
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
it Ll 450 0 450 1 756 108
F 2,659 185 2,474 5 540 2,700 324
IR 1,130 0 1,130 10 2,916 2,430
=50 18 18 o[ ot 38
131950 |4 = ¥ 3,765
EE 387 60 327 3 756 1,188 432
BE 2,550 459 2,091 3 1, 404 156 1,512 432
BRE 213 0 213 3 1,080 864
fE 165 0 165 3 1,296 972
133400 [L B R a3 27,558
R 8,240 2,383 5,858 10 1,620 1,296 1,728 648
EE 13,318 7,068 6,250 10 2. 160 972 2,052 648
32 3,000 600 2,400 10 1,944 1,080 1,944 972
EI5 2,800 2,800 0 10 1,404
REAR 200 0 200 10 1,231 648
134100 |81 a3 19,760
3] 5,820 1,260 4,560 5 1,825 1,512 2,052 1,080
iR 195 0 195 5 1,620 1,296
= 1,150 1,040 110 5 1,836 1,350 1,566
=I5 10,350 4,730 5,620 5 2. 030 1. 361 2,052 918
134200 |F 1 % 2,240
—2—-U—5uK 2,240 80 2,160 10 1,728 1,836 1,404
134300 | %t F % 6,354
N 108 0 108 4 2,700 1,404
32 1,206 84 1,122 2 1,080 810 1,080 540
=t 3,830 1,195 2635 0.3 124 108 124 108
& 1,210 62 1,149 4 1,512 1,728 1,296
134400 [r<k a3 16,844
£E 810 0 810 1 324 270
Ei5g 2,791 36 2,755 4 1,728 1,404 1,620 756
REAR 12,432 846 11,586 [ 1,728 1. 080 1,674 648
134500 |E—< > 3 8,728
= 470 425 45  0.15 108 76 86
=] 8,173 4618 3,555 0.13 89 65 81 76
135100 [LNAIF A % 190
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#3403 B 188 (KER)

R RENFEHIS (A15) 2B B #H

Frx EISEHABE: 2431 b
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
= 100 6 94 /] Z,700 2,808 2,322
BRE 50 0 50 2 2,160 1,944
135200 | 3= ¥ 241
FIEIT 141 6 135 2 Z 268 1,728 2,376 864
135300 [E—X ¥ 340
EEIT 260 30 230 2 Z. 052 864 2,268 756
BR 80 5 75 1 756 810 540
136100 [MAL & 3 18,934
32 7,599 210 7,389 5 Z, 916 Z. 160 2,268 702
PN 3,740 0 3,740 5 1,728 648
136210 | A—9 4> % 700
dtiEE 700 0 700 10 - - - 3,564
136300 B 3 ¥ 1,550
iR 1,300 0 1,300 10 - - - 3,996 1,620
fE 100 0 100 10 1,620
136600 [f=F4=E 3 100
dtiEE 100 0 100 10 - - - 2,052 1,836
138100 [ LU =1F “ 2,576
£E 205 40 165 0.1 97 76 70
= 1,472 131 1341 0.1 119 65 173 55
138500 |LHLE ¥ 7,801
£ 7,762 492 7270 0.2 51 38 54 43
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PR REFETS (KI5) BEB#HK
#3403 B 188 (KER)

= ESEfAsE: 547 b
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) iR b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
240700 | @R M A A ¥ 2,792
®me 2,792 1,448 1,344 10 4, 860 1,404 3,888 1,620
241260 |[HEHH A ¥ 14,290
EEIT 11,840 4,520 7,320 10 3. 024 1,296 2,160 1,404
IR 2,450 2,350 100 10 1,188 918 1,080
241300 [{FF 3 1,140
EE 1,140 1,140 0 10 3. 456 1,944
241450 |;BR a3 4,831
Faxl 4,831 2,960 1,871 10 3. 240 Z. 316 3,564 1,620
241481 [T aky 3 6,752
IR 1,294 385 909 5 2,700 1,296 2,700 1,620
=l 3,668 2,130 1,538 5 1, 404 432 2,160 1,080
IR 1,420 250 1,170 5 4,104 1,944
e 250 0 250 5 3,240 2,160
242830 [ S\CYAC ¥ 2,370
5 2,370 800 1,570 10 Z. 484 2. 268 3,240 1,836
242850 | EMUAC % 3,220
= 3,220 1,030 2,190 10 3.132 1. 080 3,240 2,484
246000 (V6T % 18,863
EE 395 245 150 0.25 518 194 518 400
E 1,275 614 661 0.3 594 378 540 378
=i 1,402 656 747 027 486 270 540 216
kB 2,054 1,341 713 024 432 281 410 281
RiF 4,568 1,112 3456 0.25 378 367 432 248
RER 8,177 3,810 4367 0.25 410 248 389 248
= 5 992 145 847 0.27 410 400 410 324
247100 [7—JLA A % 408
B4l 408 94 315| 8.5 16, 740 1. 560 15,120 3,888




SF134E03 A 18H OKWER)

F A R RS T S (AE5) BHE H

R EIbng e = 13.1 %
(S I E B B )
4, . EN7EH (kg o wh5E RIS
2 4 — — filik HLAL - — — — —
AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
101 | RERT=\ 548 323 225 Kg | 1,404 162| e 1,728 324
102 |[ZHEIZW 2,776 2,776 Kg g 2,916 324
111 [ ED 801 20 781 Kg [FomkiL 270 216 =% IR 1,080 216
113 | REROBH 56 36 20 Kg | 1,620 324 | f )i 1,944 1,620
114 |5 -H 182 182 Kg ARG 2,376 540
115 [z 12 1 11 Kg |&fE 1,188 863| L 1,944 1,404
117 [i3s 66 66 Kg [f&5E 87 Lo 3,622 1,296
121 [7bixE 156 130 26 Kg [|EIR 1,620 378|FEMRF 2,700 648
134 [7=Z 339 265 74| Kg  [TE-TEE 2,376 864 | ek 3,780 864
137 |[mHES< 276 154 122 Kg [FHL 2,700 1,620] Fe)&E 3,672 1,080
138 |AR7pEZ 12 12 Kg Lo 756 720
140 |DIT 29 29 Kg B[Sz 30,240 22,500
147 [HEx O 117 26 91 Keg [X% 8,316 4,536 | 7A@ 5,400 3,500
158 [N AED 751 22 729 Kg [ERE 1,026 702 1,458 432
201 |Vl 927 927 Kg A 234 72
203 [T 76 76 Kg —H 351 243
205 |[FHC 735 735 Kg kL 432 389
206 [=iX 660 660 Kg = 562 244
208 [»oB 272 272 Kg kL 1,404 216
209 [T D000 260 260 Kg L 821 324
210 [iFAve 690 444 246 Kg [&EIF 2,970 1,890 F Iy 1,890 540
212 [#HE50 572 572 Kg JEE R B - Ky 1,512 700
251 [KAELA 577 162 415 Kg [T 2,916 1,836 Ry 3,294 2,916
252 |WAEESA 3 3 Kg FE T 2,862
254 [EDIEFESTAH 280 280 Kg FE T 1,620 702
303 [HAZEW 288 48 240 Kg [EIF 540 303[ EWF 400
305 [FE4nok 4 4 Kg = 3,888 1,620
315 |7=H9%8 126 17 109 Kg [|EIR 2,052 1,944 B 2,376 2,052
319 [&Hh5 420 100 320 Kg |[ZkE 540 AR = 2,376 540
332 |1 EA BPE 401 401 Kg E|RES 1,296 1,188
R EE] 15 5 10 Kg [#[E 3,240 HEE[E] 3,564
354 [1ZEH 39 5 34 Kg [T 1,728 TIE 1,620 783
355 |V 170 15 155 Kg [dcvEE 1,080 540 REA « fJE 1,512 500
356 [LUA 180 180 Kg F5EL 1,080 810
357 |ARHE 68 68 Kg [#EE 55 IiE] 1,728 900
358 [KxH 5 5 Kg [ 1,620
362 [7x 212 14 198 Kg |IRE 1,080 720 | fe i 2,592 702
401 [Hwp 10 10 Kg S 1,296 1,242




[ 402 P 5] 5] Ke ] B [ 4,42§]
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PO T FR YL ISR T (AN Y) B H
SFI34E03 A 18H OKHEH)

R EIbng e = 0.9 %
(S I E B B )

0 EN7EH (kg wh5E ERSENE]
o i L i o —— — - T -

AH wY5E RIS PEH AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
507 |2—/LU ) 20 20 Kg FE 594
512 | M 66 66 Kg BIRES 880 850
523 [T 2O 354 354  Kg 7« S 4,536 990
524 |mETeE 2 Y 154 154 Kg EEpA 1,920 1,530
554 |XiE WA i 10 10 Kg BIRES 800
558 |FRfa 129 129 Kg Jbre 950 594
560 |WmE7-Z 32 32 Kg EEDA 1,870 1,050
566  |@mEHNT 10 10 Kg EIRES 3,400
576  [mERSS 75 75 Kg BIRES 635




SF134E03 A 18H OKWER)

F A R RS T S (AE5) BHE H

T EIbng e = 4.9 %
(S I E B B )

= ek Hh5E H%
:Dtﬁ‘ e izl iﬁl (kg) _ e B \ _ 7 _ j JH | _

AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
701 [BHYDA 12 12 Kg =20 864
702 |hpE 449 449 Kg frJE 3,564 1,998
710 |95 HIF 51 51 Kg e 2,484 810
751 |E i 34 34 Kg R 2,646 720
754 [BESAE 39 39 Kg AbyiE 1,157 724
755 [BFR&HLT 74 19 55 Keg [X% 410 EWF 1,215 637
756 |BAET 136 136 Kg R 986 966
759 |.558%EE 24 24 Kg Lo 1,800
760 |[#rFELb 631 631 Kg | EEE- L 2,314 785
761 [BHuAiE L 6 6 Kg kL 1,692
767  IF=D 311 311 Kg & I 1,950 720
768 [E-Z 15 15 Kg FE T 1,800 1,700
801 [HEfALEIF 451 451 Kg E[RES 1,809 702
802 [HEX1T 2,209 2,209 Kg JeviE 702 626
805 [T 241 241 Kg BIRES 821 58
810 [B K+ 228 228 Kg BIRES 3,132 1,512
815 |[—~WEAE 8 8 Kg JeviEE 979
903 [T 9 9 Kg [fchE 2,052




